Business PreCalculus MATH 1643 Section 004, Spring 2013
Worksheet 2

1- Perform the following operations:
a. (23 +222 — 52+ 3) + (-2 + 22 — 4)
b. (—22*+ 32% — Tz) — (82* + 623 — 17)

c. 3(22 —2x+2) —2(52% —x +4)

2- Perform the indicated operation:
a. 3z —2)(z? +27+2)

b. (z —2)?

c. (3—2x)(3+ 2x)

d. (4+32)(16 — 122 + 92?)

d. (z—1)(z®2+z+1)

3- Determine whether the following is a polynomial:

1

a-:c—z

b. 1+ 22+ 22

4- what is the leading coefficient, leading term and degree of:
a. v 42234927 — 21

b. =323 4+ 4z — 15



